AB2020-03 PHASE ONE FOR THE FABRICATION AND INSTALLATION FOR A MODULAR STEEL BULLET TRAP FOR THE MERCER COUNTY PROSECUTOR'S OFFICE

'BID OPENING DATE: MARCH 3,2020

NUMBER OF BIDDERS	1		
NAME OF BIDDER	ACTION TARGET INC.		
ADDRESS	3411 S. MOUNTAIN VISTA PKWY		
CITY, STATE, ZIP	PROV, UT 84606		
CONTACT	REX SHIELDS		
TELEPHONE	801-705-9144		
FAX	877-852-2418		
E-MAIL	REXS@ACTIONTARGET,COM		
ADDENDUM NO. ONE	INCLUDED		
DISCLOSURE OF INVESTMENT ACTIIVITIES IN IRAN FORM	SIGNED AND DATED		
NEW JERSEY BUSINESS REGISTRATION	OK		
PREVAILING WAGE CERTIFICATION	SIGNED AND DATED		
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED		
INSURANCE CERTIFICATE	REQUIRED IF AWARDED		
BID GUARANTEE	THE GURANTEE COMPANY OF NORTH AMERICA USA 10% TOTAL AMOUNT OF BIE		
CONSENT OF SURETY	JUDY PARRY AIF WITH POA		
non-collusion affidavit	SIGNED AND DATED		
STATEMENT OF OWNERSHIP DISCLOSURE FORM	SIGNED AND DATED		
EXHIBIT B	INCLUDED		
AA201 FORM	REQUIRED IF AWARDED		
PW CONTRACTOR REG.	NOT REGISTERED AT TIME OF BID		
STRUCTURAL STEEL SUB	IN-HOUSE		
EQUIPMENT CERT	SIGNED AND DATED		
SAFETY CERT	SIGNED AND DATED		
REFERENCE	INCLUDED ARCHITECT TO REVIEW		
HOLD PRICING BEYOND 60 DAYS	YES		
TOTAL BASE BID	\$ 654,285.00		
EXCEPTIONS	YES, EXCEPTIONS TO INSURANCE REQUIREMENTS		
FATAL FLAW	YES, NOT REGISTERED AS PUBLIC WORKS CONTRACTOR AT TIME OF BID		

BID RESULTS

AB2020-16 DUCT CLEANING FOR THE COUNTY OF MERCER AND THE MERCER COUNTY PARK COMMISSION FOR A PERIOD OF TWO (2) YEARS

BID OPENING DATE: MARCH 4,2020

BID OPENING DATE: MARCH 4,2020					
NUMBER OF BIDDERS	3				
NAME OF BIDDER	APEX APPLIANCE REPAIR+ SERVICE INC.	ADVANCED AIR SERVICE GROUP	JERSEY POINT MANAGEMENT, INC.		
ADDRESS	10 HAROLD PLAZA	260 TURNER INDUSTRIAL WAY	585 N. CENTRAL AVENUE		
CITY, STATE, ZIP	MONROE TWP, NJ 08831	ASTON, PA 19014	RAMSEY, NJ 07446		
CONTACT	THOMAS ASCIOLLA	KEVIN MARTIN	JUDY BERKLEY		
TELEPHONE	732-257-4590	610-494-0100	201-669-6583		
FAX	732-210-4226	610-494-0101	201-785-1356		
E-MAIL	OFFICE@APEXAIRDUCTCLEANING.COM	KMARTIN.ADVANCEDAIR@GMAIL.COM	JERSEYPOINTMANAGMENT@GMAIL.COM		
ADDENDUM NO ONE	INCLUDED	INCLUDED	NOT INCLUDED		
CERTIFICATE OF INSURANCE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
INSURANCE AND INDEMNIFICATION REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
NEW JERSEY BUSINESS REGISTRATION	OK	ОК	OK		
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED/MUST CHECK YES OR NO		
EXHIBIT A	REQUIRED IF AWARDED	INCLUDED	INCLUDED		
EMPLOYEE INFORMATION CERTIFICATE	REQUIRED IF AWARDED	50559 EXPIRES 4.15.2020	REQUIRED IF AWARDED		
NADCA MEMBERSHIP	YES	YES	YES		
NADCA CERTIFIED EMPLOYEE AS AN AIR SYSTEM SPECIALIST	THOMAS ASCIOLLA, # 12772042 EXPIRES 6.30.2020	YES, VARIOUS	YES, VARIOUS		
PUBLIC WORKS CONTRACTOR REGISTRATION	NOT REGISTERED	706576 EXPIRES 11.17.20	709947 EXPIRES 4.4.21		
REFERENCES	INCLUDED B&G AND PC TO REVIEW	INCLUDED B&G AND PC TO REVIEW	INCLUDED B&G AND PC TO REVIEW		
CONTINUITY OF SERVICES	YES	YES	YES		
EXTEND BEYOND 60 DAYS	YES	YES	YES		
GRAND TOTAL	\$ 96,240.00	\$ 98,245.00	\$ 910,500.00		
EXCEPTIONS	NONE	NONE	NONE		
FATAL FLAW	YES, NOT A REGISTERED PW CONTRACTOR AT TIME OF BID	NO	YES, ADDENDUM NO ONE NOT INCLUDED		

PROPOSAL PAGE FOR DUCT CLEANING FOR THE COUNTY OF MERCER

		SAL PAGE I		NING FOR THE CO	ı			
LOCATION AND ADDRESS	WORK HOURS	HOURS	HOURLY RATE	TOTAL	HOURLY RATE	TOTAL	HOURLY RATE	TOTAL
BUSINESS HOURS - 7:00 AM - 4:30 PM			SERVI	NCE REPAIR+ CE INC.		R SERVICE GROUP	JERSEY POIN	T MANAGEMENT, INC.
Tennis Center, MCP 334 S. Post Road	7:00A.M 3:00P.M.	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
W. Windsor, NJ 08550								
Skating Rink 334 S. Post Road	7:00A.M 3:00P.M.	20	\$ 48.00	\$ 960.00	\$ 49.00	\$ 980.00	\$ 350.00	\$ 7,000.00
W. Windsor, NJ 08550								
Historic Hunt House	7:00A.M 3:30 P.M.	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
197 Blackwell Road Pennington, NJ 08534								
Mercer Oaks Golf Course	7:00A.M 4:00P.M.	80	\$ 48.00	\$ 3,840.00	\$ 49.00	\$ 3,920.00	\$ 350.00	\$ 28,000.00
725 Village Road West W. Windsor, NJ 08550								
Mountain View Golf Course	7:00A.M 4:00P.M.	80	\$ 48.00	\$ 3,840.00	\$ 49.00	\$ 3,920.00	\$ 350.00	\$ 28,000.00
8980 Bear Tavern Road	7.007.191 4.001 .191.	- 00	\$ 40.00	\$ 3,040.00	\$ 47.00	\$ 3,720.00	\$ 330.00	\$ 20,000.00
Ewing, NJ 08628								
Princeton Country Club 1 Wheeler Way	7:00A.M 4:00P.M.	80	\$ 48.00	\$ 3,840.00	\$ 49.00	\$ 3,920.00	\$ 350.00	\$ 28,000.00
Princeton, NJ 08540								
Airport Control Tower 1100 Terminal Circle Drive	8:00A.M 4:30P.M.	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
Suite 301 Trenton, NJ 08628								
Medical Examiner Mercer County Airport	8:00A.M 4:30P.M.	16	\$ 48.00	\$ 768.00	\$ 49.00	\$ 784.00	\$ 350.00	\$ 5,600.00
Building #31 Trenton, NJ 08628								
Voting Machine Warehouse	8:00A.M 4:30P.M.	16	\$ 48.00	\$ 768.00	\$ 49.00	\$ 784.00	\$ 350.00	\$ 5,600.00
1 Johnston Avenue Hamilton, NJ 08609								
Veteran's Services Building 2280 Hamilton Avenue	8:00A.M 4:30P.M.	20	\$ 48.00	\$ 960.00	\$ 49.00	\$ 980.00	\$ 350.00	\$ 7,000.00
Hamilton, NJ 08619								
McDade Administration Building 612 S. Broad (Annex)	8:00A.M 4:30P.M.	100	\$ 48.00	\$ 4,800.00	\$ 49.00	\$ 4,900.00	\$ 350.00	\$ 35,000.00
Trenton, NJ 08650								
Mercer County Correction Center 1750 River Road	8:00A.M 4:30P.M.	355	\$ 48.00	\$ 17,040.00	\$ 49.00	\$ 17,395.00	\$ 450.00	\$ 159,750.00
Lambertville, NJ 08530								
Dempster Fire Academy	8:00A.M 4:30P.M.	24	\$ 48.00	\$ 1,152.00	\$ 49.00	\$ 1,176.00	\$ 350.00	\$ 8,400.00
350 Lawrence Station Road Lawrenceville, NJ 08648								
D.O.T. Facility	8:00A.M 4:30P.M.	24	\$ 48.00	\$ 1,152.00	\$ 49.00	\$ 1,176.00	\$ 350.00	\$ 8,400.00
300 Scotch Road W. Trenton, NJ 08628								
Baldpate Mountain/Strawberry Hill Man	8:30A.M 4:30P.M	20	\$ 48.00	\$ 960.00	\$ 49.00	\$ 980.00	\$ 350.00	\$ 7,000.00
28 Fiddlers Creek Road Titusville, NJ 08560								
Boathouse Banquet Facility & Marina C 334 S. Post Road	8:30A.M 4:30P.M	80	\$ 48.00	\$ 3,840.00	\$ 49.00	\$ 3,920.00	\$ 350.00	\$ 28,000.00
W. Windsor, NJ 08550								
Howell Living History Farm 70 Woodens Lane	8:30A.M 4:30P.M	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
Hopewell, NJ 08534								
Recreations & Events Center 1638 Old Trenton Road	8:30A.M 4:30P.M	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
W. Windsor, NJ 08550								
Tulepehaking Nature Center	8:30 A.M 4:30 P.M.	80	\$ 48.00	\$ 3,840.00	\$ 49.00	\$ 3,920.00	\$ 350.00	\$ 28,000.00
157 Westcott Avenue Hamilton, NJ 08610								
Mercer County Wildlife Center	8:30A.M 4:30P.M	100	\$ 48.00	\$ 4,800.00	\$ 49.00	\$ 4,900.00	\$ 350.00	\$ 35,000.00
1748 River Road Titusville, NJ 08610								
Tulepehaking Nature Center	8:00 A.M 4:00 P.M.	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
157 Westcott Avenue Hamilton, NJ 08610	0.00 A.W 4.00 I .W.	40	\$ 40.00	\$ 1,720.00	\$ 47.00	\$ 1,760.00	\$ 550.00	3 14,000.00
Noah Hunt Barn 197 Blackwell Road	8:00 A.M 4:00 P.M.	40	\$ 48.00	\$ 1,920.00	\$ 49.00	\$ 1,960.00	\$ 350.00	\$ 14,000.00
Pennington, NJ 08534								
ESTIMATED TOTAL REGULAR HOURS		1375		\$ 66,000.00		\$ 67,375.00		\$ 516,750.00
AFTER HOURS, WEEKENDS AND COUNTY			HOURLY RATE PER PREMIUM	TOTAL PREMIUM	HOURLY RATE PER PREMIUM	TOTAL PREMIUM	HOURLY RATE PER PREMIUM	TOTAL PREMIUM
HOLIDAYS	MOSK HOUSE	TOTAL	HOUR	HOURS	HOUR	HOURS	HOUR	HOURS
Civil Court House	5:00PM to 1:00AM	HOURS 225	\$ 48.00	\$ 10,800.00	\$ 49.00	\$ 11,025.00	\$ 625.00	\$ 140,625.00
175 South Broad Street Trenton, NJ 08608								
McDade Administration Building								
612 S. Broad (Annex) Trenton, NJ 08650	5:00PM to 1:00AM	50	\$ 48.00	\$ 2,400.00	\$ 49.00	\$ 2,450.00	\$ 625.00	\$ 31,250.00
Mercer County Court House								
400 Warren Street	5:00PM to 1:00AM	355	\$ 48.00	\$ 17,040.00	\$ 49.00	\$ 17,395.00	\$ 625.00	\$ 221,875.00
Trenton, NJ 08650								
ESTIMATED TOTAL PREMIUM HOURS		630		\$ 30,240.00		\$ 30,870.00		\$ 393,750.00
GRAND TOTAL FOR ALL HOURS			<u> </u>	\$ 96,240.00	<u> </u>	\$ 98,245.00	I	\$ 910,500.00

		BID RESULTS			
CK09MERCER2020-11ONE (1) 2021 OR NEWER KENWORTH MODEL 1370 4X2, STANDARD DAY CAB WITH ROLLBACK TOW BODY WITH ACCESSORIES FOR USE BY MOTOR POOL BID OPENING DATE: MARCH 5, 2020					
NO. OF BIDDERS:	4				
NAME OF BIDDER	LIBERTY KENWORTH HINO TRUCK SALES	GABRIELLI KENWORTH OF NJ, LLC	BUCKS COUNTY INTERNATIONAL, INC.	CAMPBELL FREIGHTLINER, LLC	
ADDRESS	2160 ROUTE 322	2306 ROUTE 130 N	134 OLD OXFORD VALLEY ROAD	1015 CRANBURY SOUTH RIVER ROAD	
CITY, STATE, ZIP	SWEDESBORO, NJ 08085	DAYTON, NJ 08810	LANGHORNE, PA 19047	SOUTH BRUNSWICK, NJ 08831	
CONTACT	DAVID EHRMAN	PAUL AVVENTO	KIM HIEBER-HANSHAW	NEAL B. CAMPBELL	
TELEPHONE	856 803 1700	732 438 5740	267 397 4000	732 287 1500	
FAX	856 803 1756	732 438 0738	215 493 1061	732 656 1955	
E-MAIL	DEHRMAN@LIBERTYKENWORTH.COM	PAVVENTO@GABRIELLITRUCK.COM	KIM@BUCKSCOUNTYINTERNATIONAL.COM	SCAMPBELL@CAMPBELLSUPPLY.COM	
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	INCLUDED	INCLUDED	
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
BUSINESS REGISTRATION CERTIFICATE	OK	OK	OK	OK	
EIC	REQUIRED IF AWARDED	44468 EXPIRES 02.15.24	5996 EXPIRES 11.15.26	1124 EXPIRES 02.15.22	
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	NO	
UNIT COST FOR ONE (1) 2021 OR NEWER KENWORTH MODEL T370 4X2, STANDARD DAY CAB WITH ROLLBACK TOW BODY WITH ACCESSORIES OR EQUIVALENT	\$ 142,776.00	\$ 154,827.19	\$ 155,802.45	\$ 198,977.00	
MANUFACTURER	KENWORTH/ CENTURY	KENWORTH	INTERNATIONAL	FREIGHTLINER/CHEVRON	
MODEL	T370 / 16 SERIES LCG	T370	MV607	M2-106/16 SERIES LCG	
YEAR	2021	2021	2021	2021	
DELIVERY DATE	180 DAYS AFTER AWARD	PER BID TERMS	180 DAYS	180-270 DAYS AFTER RECEIPT OF ORDER	
EXCEPTIONS	SEE EXCEPTIONS PAGE	SEE EXCEPTIONS PAGE	SEE EXCEPTIONS PAGE	SEE EXCEPTIONS PAGE	
FATAL FLAW	NO	NO	NO	NO	

BID RESULTS

CK09MERCER2020-12 ONE (1) 2020 OR NEWER INTERNATIONAL MODEL #MV607 SBA-4X2 OR EQUIVALENT WITH GRAPPLE SAW (INSTALLED) FOR USE BY SHADE TREE

BID OPENING DATE: MARCH 6, 2020				
NO. OF BIDDERS:	2			
NAME OF BIDDER	W.E. TIMMERMAN CO., INC.	BUCKS COUNTY INTERNATIONAL, INC.		
ADDRESS	3554 ROUTE 22 WEST	2306 ROUTE 130 N		
CITY, STATE, ZIP	WHITEHOUSE, NJ 08888	DAYTON, NJ 08810		
CONTACT	EDWARD K. BIXBY	PAUL AVVENTO		
TELEPHONE	908 534 4126	732 438 5740		
FAX	908 534 2320	732 438 0738		
E-MAIL	MAIL@TIMMERMANEQUIPMENT.COM	PAVVENTO@GABRIELLITRUCK.COM		
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED	SIGNED AND DATED		
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED		
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED		
BUSINESS REGISTRATION CERTIFICATE	OK	OK		
EIC	5180 EXPIRES 08.15.26	5996 EXPIRES 11.15.26		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED		
HOLD PRICING BEYOND 60 DAYS	YES	YES		
UNIT COST FOR ONE (1) 2020 OR NEWER INTERNATIONAL MODEL #MV607 SBA-4X2 OR EQUIVALENT WITH GRAPPLE SAW	\$ 391,850.00	\$ 393,013.00		
MANUFACTURER	ALTEC	INTERNATIONAL		
MODEL	HEARTLAND 225	MV607		
YEAR	2020	2021		
DELIVERY DATE	210 DAYS ARO	210 DAYS		
EXCEPTIONS	NONE	SEE EXCEPTIONS PAGE		
FATAL FLAW	NO	NO		

AB2020-18 EXTERIOR POST AND PANEL INTERPRETIVE SIGNAGE SOUTH RIVER WALK PARK, CITY OF TRENTON, MERCER COUNTY NEW JERSEY

'BID O	PENING DATE: MARCH 6,2020		
NUMBER OF BIDDERS	2		
NAME OF BIDDER	FORMAN SIGNS CO, INC. GIACORP CONTRACTING I		
ADDRESS	10447 DRUMOND ROAD	11 BRADHURST AVENUE	
CITY, STATE, ZIP	PHILADELPHIA,PA 19154	HAWTHRONE, NY 10532	
CONTACT	ERIK HERSCH	LISA WALTER CALICCHIA	
TELEPHONE	215-827-6500	914-440-0300	
FAX	215-824-6501	914-302-3973	
E-MAIL	ERIKH@FORMANSIGN.COM	LWC@GIACCINC.COM	
DISCLOSURE OF INVESTMENT ACTIIVITIES IN IRAN FORM	SIGNED AND DATED	SIGNED AND DATED	
NEW JERSEY BUSINESS REGISTRATION	OK	OK	
PREVAILING WAGE CERTIFICATION	OK	OK	
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
STATEMENT OF OWNERSHIP DISCLOSURE FORM	SIGNED AND DATED	SIGNED AND DATED	
ЕХНІВІТ В	REQUIRED IF AWARDED	INCLUDED	
AA201 FORM	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
PW CONTRACTOR REG.	688530 EXPIRES 10.5.2021	714824 4.2.2021	
REFERENCE	INCLUDED PLANNING DEPARTMENT TO REVIEW	INCLUDED PLANNING DEPARTMENT TO REVIEW	
HOLD PRICING BEYOND 60 DAYS	YES	YES	
	PROPOSAL FORM		
FABRICATION PRICE FOR ALL SIGNS (9)			
UNIT COST	\$ 450.00	\$ 1,500.00	
TOTAL	\$ 4,050.00	\$ 13,500.00	
COST TO INSTALL ALL NEW SIGNS AND REMOVE ALL OLD SIGNS (9)			
UNIT COST	\$ 500.00	\$ 2,160.00	
TOTAL	\$ 4,500.00	\$ 19,440.00	
COST TO REPAIR FRAMES AS SPECIFIED (1)	\$ 1,350.00	\$ 16,750.00	
GRAND TOTAL	\$ 9,900.00	\$ 49,690.00	
EXCEPTIONS	NONE	NONE	
FATAL FLAW	NO	NO	